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Section : Domain

Q.1 The difference between the total head line and the hydraulic grade line represents the:

Question ID : 9497309381
Ans X 1. Piezometric head Stiis A EE
< 2. Pressure head Chosen Option:4
# 3. Elevation head
v Velocity head
Q.2 In a uniform laminar flow through a conduit, the hydraulic gradient varies: )
Question ID :9497309382
Ans X 1. Status : Answered
inversely as the kinematic viscosity of the fluid Chosen Option : 3
X 2 as square of the diameter of the conduit
« 3. asthe velocity of flow
X
inversely as the dynamic viscosity of the fluid
Q.3 InBoussinesq's solution to the problem of stress distribution, all the following assumptions are made, except:
ans X ) ) ) ) Question ID : 9497309361
1. Soil mass is semi-infinite. Status : Answered
X 2. The elastic modulus of soil is constant. Chosen Option : 4
#< 3. Soil is homogeneous.
+ 4. Soil is anisotropic.
Q4 2 8
The unit mass (kg/cum) of structural steel is: Question ID : 9497309333
Ans X1 8220 Status : Answered
Chosen Option : 3
X 22500
o3 7850
< 43500
Q.5 Which of the following is false about gravi filters used for water purification?
5 SLavtyRe & Question ID : 9497309373
Ans 5 1. Skilled supervision is essential Status : Answered
Chosen Option : 2
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# 2. Operational cost is high
/< 3. Depreciation of plant is high

v Coagulation is not essential

Q.6 AsperIS 456, lap splices shall not be used for bars with diameter (mm) greater than:

/< 2. Right angle

/3. Acute angle
& 4 Zero

A Question ID : 9497309327
ns X' 1. 30 Status : Answered
J 2. 36 Chosen Option :2
X328
X4 32
Q.7 Thedistance between centre of fasteners shall not be less than Y times the nominal diameter of the fastener, where Y is:
Question ID : 9497309336
Ans X1 0.5 _
Status : Answered
J 2. 2.5 Chosen Option : 4
X3
X413
Q.8 The Poisson's ratio of a stable, isotropic, linear elastic material cannot be less than:
A Question ID : 9497309367
the x 1.0.50 Status : Answered
x 2. 0.00 Chosen Option :2
V'3 -1.00
X4 -0.50
Q.9 A simply supported beam shall be deemed to be a deep beam when the ratio of effective span to overall depth, i less than:
Ans J Question ID : 9497309330
2.0 Status : Answered
X225 Chosen Option : 1
X313
K415
Q.10 n a pipe flow. the minor loss due to sudden contraction is due to: Qleston D o ihoats
Ans X 1. Boundary friction Status : Answered
. 5 Chosen Option : 4
o Expansion of flow after sudden contraction
# 3. Cavitation
# 4. Flow Contraction
Q.11 While drawing Mohe's envelope, the relationship can be considered to be a straight line, if the angle of intemal fiction is
assumed 10 be: Question ID : 9497309370
Ans  of 1. Constant Status : Answered
Chosen Option : 4
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Q.12 1tis known fact thae any place \ging and does not remain time to time. Which of
the following is not a type of declination? Question ID : 9497309350
Ans x 1. Annual Status : Answered
x 2. Secular Chosen Option : 2
' 5 Monthly
# 4 Diurnal
Q1 3 The art of determining the relative positions distinctive features, on the surface of the earth or beneath the surface of earth.
by means of measurement of distances, directions and elevations is called as: Question ID : 9497309346
Ans X 1. Astronomy Status : Answered
z Chosen Option : 2
o 2 Surveying
X3 Levelling
X 4 Geodesy
Q.14 Muliple displacement methods are used in structural analysis. Which of the following is not one of these?
Ans sp Question ID : 9497309386
# 1. Equilibrium method Status : Answered
' 2. Method of consistent deformations Sl
# 3. Moment distribution method
X 4. stiffness method
Q.15 According to IS 800, the maximum effective slendemess rato for a member carrying compressive loads resulting from dead
sty enctpoons loste i Question ID : 9497309334
Ans X1 250 Status : Answered
X 2.125 Chosen Option : 3
V5180
X 4200
Q.16 The shump of conerete used for hand placed pavement construction is recommended by the Indian Standard as:
Ans J Question ID : 9497309318
1 25-75 mm Status : Answered
< 2. 50-100 mm Chosen Option : 1
X 3 25 mm
X 4150 mm
Q.17 The b of ones i India for g allowable for buiding tmber as per the Indian standard are:
Question ID : 9497309340
Ans H
x 1. Two Status : Answered
« 2 Four Chosen Option : 2
K3 six
& 4 Three

Q1 8 Ifthe sensitivity of a clay is four and its undisturbed strength is 300 units, the disturbed strength of that clay will be:
An: :
s X 1. 750 units
#< 2. 250 units

Question ID :
Status :
:3

Chosen Option

9497309357
Answered
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W 3 75 units
2 4 1000 units

Q.19 Softening of water is required for all but one of which of the following reasons?

X218
X312

Chosen Option :

Question ID : 9497309375
Ans J 1 Status : Answered
Make the cooked food tasty. soft and palatable Chosen Option :4
# 2. Reducing corrosion of pipes
X3
Reduce the rates of scale formation in the boilers
# 4. Helps reduce the fuel costs
Q.20 Spring analogy in soil mechanics is used for explaining which of the following phenomenon?
Ans . Question ID : 9497309362
x 1. Compacm}n Status : Answered
x 2. Draiﬂage Chosen Option : 1
/< 3. Elasticity
v 4 Consolidation
021 According to the Indian Standard 12269, the initial setting time of ordinary portland cement should be not be less than:
Ans . Question ID : 9497309312
2 1. 45 min Status : Answered
X 2. 400 min Chosen Option : 4
# 3. 15 min
¥ 4 30 min
Q.22 The flash point temperature (degree C) of paving grades of bitumen as per the Indian standard is:
Ans I Question ID : 9497309339
1220 Status : Answered
X 2 200 Chosen Option : 3
3180
X 4160
Q.23 Concrete i the member represented by a core tes shall be cansidered acceptable if the average equivaleat cube strength of
the cores is equal to at least q percent of the cube strength of the grade of concrete, where q (%) is: Question ID : 9497309326
Ans “ 1. 85 Status : Answered
x 2. 05 Chosen Option : 2
X375
<4 65
Q.24 The minimum density (g/ce) of corrugated and semi-corrugated asbestos cement sheets considered acceptable for
comsimetion pppse¥ by thelindian sfnds iz Question ID : 9497309341
Ans X116 Status : Not Answered
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Q.25 According to Hazen's approximation of permeability of sands, if the effective diameter is 0.2 cm, then the permeability

(e will e approximately eqal (o Question ID : 9497309359
Ans  of 1 4 Status : Answered
x 2. 200 Chosen Option : 1
23 40
X420
Q.26 [nasubmerged " ir, an 2 aeration of napps for which of the. 2
A ) Question ID : 9497309380
“ B i . L i Status : Answered
For having a constant head-discharge relation independent of time Chosen Option : 2
#< 2. For preventing submergence of weir
/< 3. For maintaining water quality
X 4
For having highest value of co-efficient of discharge
Q.27 During the purification of water, if chlorine is applied beyond the stage of break-point, then the water is called as:
Ans x " Question ID : 9497309374
1. Double chlorinated Status : Answered
+ 2. Super-chlorinated Chosen Option :2
< 3. Post chlorinated
# 4. Pre-chlorinated
Q.28 Whi ; ; y : 5
‘Which of the following turbines have the least specific speed? Question ID - 9497309385
Ans x 1. Francis Status : Answered
x 2. Pelton Chosen Option : 3
X3 Kaplan
(v Impulse
Q29 A real fluid i ‘hich
real fluid 15 one whicl Question ID : 9497309379
Ans X 1. has constant viscosity and density Stalus : ArtsWered
_ Chosen Option : 1
o 2. has viscosity
7 3. has zero shear stress
& 4 is incompressible
Q.30 Inreinforced concrete walls, the ratio of the effective height to thickness is limited by design code to:
Ans x Question ID :9497309332
125 Status : Answered
« 2. 30 Chosen Option : 2
X320

X415
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Q.31 Inacertain project, the minimum specified cement content is 370 ke/cum. Due to a failure in the aggregate crushing and

screening plant, the project manager is left with only 10 mm aggregate and sand. How will it affect the minimum cement : 5
content requirement? Question ID : 9497309314
Ans 1. Status : Not Answered

Ch Option : --
The cement content will have to be reduced by 40 kg/cum. osen pton

)

The cement content will have to be increased by 40 kg/cum.

X s

The cement content will have to be reduced by 30 kg/cum.

X 4

The cement content will have to be increased by 30 kg/cum.

Q.32 1na 10m side square shaped sedimentation tank, the flow rate s 100 cum/h, and if the depth of water is 2 the detention
time (1) is Question ID : 9497309372
Ans X 1.3 Status : Answered
x 21 Chosen Option : 3

Vs 2
K44

Q33 According to Indian Standard 9103, the minimum water i -hieved using a icizing admixture is:
Ans J = Question ID : 9497309320
1 20% Status : Answered
x 2. 40% Chosen Option : 4
X< 3 30%
X< 4.10%

Question ID : 9497309324

Ans
X 1. 28th Status : Answered
x 2. 7th Chosen Option : 3
3 21st
V4 14th
Q.35 In case of welds using lap oints, the minimum Iap should not be less than four times the thickness of the thinner part joined
ort mm, whichever is more, where t (mm) is: Question ID : 9497309337
Ans 5110 Status : Answered
x 2. 30 Chosen Option : 3

v 3 40
X420

Q.36 The minimum cement content (kg/cum) for a ship dock (underwater consiruction) with 40 mm ageregate is prescribed by
T Stendas G Question ID : 9497309325
Ans J 1. 350 Status : Answered
x 2. 250 Chosen Option : 3
#3300

& 4400

Q.34 A 9m long slabis cast o 15t of this month. According to the standard, on which day, can the props o the slab be removed?
Ir
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Q.37 i ing i i 0
‘Which of the following is not a quality control test of cement? Question ID : 9497309322

Ans X 1. Soundness Status : Answered

Chosen Option : 2
« 2. Slump P

7% 3. Normal consistency

/< 4 Compressive strength

Q.38 For uniformly graded soil, the coefficient of uniformity is: Qi [ - CTAEES

Ans  of 1 One Status : Answered
Chosen Option : 2
X 2. Seven 2
# 3. Five
< 4 Ten
Q.39 The maximum surface drying time (min) for class A type plastic emulsion paint as per the Indian standards is:
Ans J Question ID : 9497309342
145 Status : Answered
X275 Chosen Option : 3
X 3. 60
X 4240
Q.40 Roller Compacted Concrete (RCC) can be used for which of the following constructions?
:Answered
# 2. Wearing surface of roads Chosen Option :2
# 3. Bridge deck slabs
4 Canals
Q.41 The maximum intensity of Ioading that the foundation will safely carry without the risk of shear failure of soil irrespective
o R Y o> s called s Question ID : 9497309364
Ans X 1. Allowable bearing capacity Status : Answered

Chosen Option : 3

' 2. Safe bearing capacity

#< 3. Ultimate bearing capacity
75 4. Net loading intensity

Q.42 When assessing the strength of a structure or structural member for the limit state of collapse, the values of partial safety
factor for reinforcing steel, should be taken as: Question ID : 9497309328
Ans X 1.1.50 Status : Answered
22.1.00 Chosen Option : 3
Vs 115
K125

Q.43 The effective length of prismatic steel member of length L in compression having both its ends restrained is:
Question ID : 9497309335
Status : Answered

Ans x1_ T

A Question ID : 9497309323
ns o
' 1. Dams Status :
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x 2. 0.8L Chosen Option : 4
<3 1250
v 4 0.65L
Q.44 The maximum permissible limit of Chlorides (mg/l) in potable water, in absence of an alternate source is:
Ans Question ID : 9497309391
X 1750 Status : Answered
¥ 21000 Chosen Option : 2
#3250
X 4500
Q.45 The imaginary level surface with reference to which vertical distances of the points are measured is called as:
Ans x Question ID : 9497309352
1+ Mean sea level Status : Answered
7 2. Horizontal plane Chosen Option : 1
# 3. Reduced level
v 4 Datum surface
Q.46 i 0 - i : o
The slenderness ratio has which of the following dimensions? Question ID 9497309389
Ans X1 mq1 Status : Answered
x 2 m Chosen Option : 4
23 m?
« 4. dimensionless quantity
Q.47 According to the limit state theory, and as taken by IS 456, the maximum compressive strain in concrete in axial
compression is taken as: Question ID :9497309329
Ans x 1. 0.00125 Status : Answered
J 2. 0.002 Chosen Option : 2
# 3. 0.001
# 40,0015
Q.AB In the standard it used for developing i it i a soil, the weight of the hammer used is:
Ans Question ID : 9497309363
x 13 k'g Status : Answered
x 2. 45 kg Chosen Option : 4
K3 225kg
Wi 25k
Q.49 H " o e
The maximum pH value acceptable for potable water is: Question ID : 9497309371
Ans x 1.% Status : Answered
x 2. 6.5 Chosen Option : 4

V3 85
K48
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Q.50 Which of the following methods is not used for measuring in-situ density of compacted soils?

X2

6 and effective length (in width direction) to width ratio is 12.

X3

6 and effective length (in width direction) to width ratio is also 6.

X4

Ans y Question ID : 9497309356
#< 1. Nuclear density gauge method Status : Answered
< 2. Water replacement method Climsem il &

# 3. Sand replacement method
o 4 Cassagrande's method

Q.51 What will be the Sludge Volume Index (SVI) if 100 ml of sludge collected in 30 mins on drying weighs 500 mg?

Ans . Question ID : 9497309378
{ 1125 Status : Answered
X 2. 8 Chosen Option : 1
#3.0.008
X 40125

Q.52 Normally. the air that i left behind in the concrete after full compaction is achieved, is termed as:

Ans . 5 Question ID : 9497309317
x 1. lncompne551ble arr Status : Answered
x 2. Entrained air Chosen Option : 4
/3. Compactible air
+' 4 Entrapped air

Q.53 The area under the stress-strain curve for a material is usually used to estimate the

Question ID : 9497309387

Ans 5 1. fatigue of the material Sae Answered

; 3 . h tion : 1
« 2. energy required to cause a failure Chosen Option
< 3. toughness of the material
# 4. hardness of the material
054 ‘When corrosion n‘fslzel embedded in concrete takes place. the volume of rust is usually P times that of the original volume
o Question ID : 9497309321

Ans X1 4.9 Status : Answered
x 2o (P Chosen Option : 4
X3 1-15
4 2-4

les ‘An RCC column will be considered as slender when the ratio of effective length (in depth direction) to depth ratio is:

Ans . Question ID : 9497309369
« o Status : Answered

12 and effective length (in width direction) to width ratio is also 12. L
Chosen Option : 1

10 and effective length (in width direction) to width ratio is also 10.
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Q.56 On a contour map, curves that are more or less equally spaced, depict:

2 Los Angeles

2 3 Izod
# 4 Micro-Deval

L
Question ID : 9497309353
Ans o 1. uniform slope Status : Answered
Chosen Option :1
X 2 avalley
& 3. steep slope
4 avertical cliff
Q.57 While caleulating bearing capacity for a foundation, the water table is likely to permanently remain at a level of 20 m for a
square foundation of side 5 m, then the correction factor for water table will be taken as: Question ID 9497309365
Ans J 1.1.00 Status : Answered
x 2. 0.5 Chosen Option : 1
X 3025
X 4075
Q.58 The water formations that are impermeable and contain water, but are not capable of transmitting a significant quantity are
S Question ID : 9497309360
Ans i 1. Aquiclude Status : Answered
5 Chosen Option :1
# 2. Perched Aquifer
& 3. Aquifer
< 4. Confined Aquifer
Q.59 : 3
Slate is a type oft Question ID : 9497309344
Ans J 1 Meta.morphic rock Status : Answered
Chosen Option : 1
X2 Igneous rock
3. Prolithic rock
< 4. Sedimentary rock
Q.60 A potential degradation of concrete can happen, if the Alkalies present in the cement react with:
Ans Question ID : 9497309313
x s Po]y'propylene fibres Status : Answered
X 2. Potable water Chosen Option : 3
« 3. silica present in aggregates
X
Naphthalene present in the chemical admixture
Q.61 The abrasion resistance of mineral aggregates used for concrete making is usually measured using which of the following
festmethod? Question ID : 9497309319
Ans 1. T e Chatelier Status : Answered
Chosen Option : 2
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Q.62 The horizontal angle between the true meridian and the survey line measured in a clockwise direction is called as:

Ans ] Question ID : 9497309349
x I Azimuth Status : Answered

' 2 True bearing Chosen Option : 1

2 3. Grid Meridian
25 4. Arbitrary Meridian

Q.63 Which of the following methods of layout of water distribution pipes is suitable for well-planned roads and streets?

Question ID : 9497309376
Ans X 1. Grid iron

Status : Answered

X 2. Radial Chosen Option : 1
v 5. Circular
# 4 Dead end

Ans
X 1. Extreme Status : Not Answered
# 2 Severe Chosen Option : -
# 3. Moderate
o 4. Very Severe

Q.65 Which of the following is not a temporary adjustment to a compass used for land surveying?

Ans : : Question ID : 9497309348
X Focusing the prism Status : Answered
x 2. Chosen Option : 3

Making the pivot exactly vertically over the ground station mark

W3

Center of the pivot coincides with geometrical center of graduated ring

X 4. Levelling

Q.66 Inanon-cellular, non-ribbed, flat slab, the spacing of reinforcing bars shall be limited to a maximum of m times the
e . ™ Question ID : 9497309331
Ans X 1. 2.50 Status : Answered
v 2. 2.00 Chosen Option : 2

75 3.1.50
X 4.1.00

Q.67 Ifasurveying drawing is prepared at a scale of 1 cm =4 m, then what will be the fractional scale?
Question ID : 9497309347

Status : Answered

Ans X 1.1:0.025

K 21:40 Chosen Option : 4
X31:025
v 4.1:400

Q.68 na standard Califomia bearing ratio test (sample height is 125 mm), the difference between the initial and final dial gauge
readings is found to be 0.125 mm. What is the expansion ratio of this soil? Question ID : 9497309366

Q.64 Which of the following exposure conditions will a structural steel element be classified when exposed to comosive fumes?
Question ID : 9497309338
‘Ans x 1. 10 Status : Answered
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x 2. 100 l Chosen Option : 2 J
V301
K4l

Q.69 Rank the following for usual ranges of hydraulic conductivity in descending order of values:
Question ID : 9497309345
(a) Vesicular Basalt

(b) Sandstone Status : Answered

(¢) Limestone Chosen Option : 3
(d) Fractured Metamorphic rocks

Ans X1 g-b-c-d
X 2 dabc
v 3 a-d-c-b
& 4 b-a-c-d

‘moment M at the fixed end, where M is: Question ID : 9497309388
Ans wl? Status : Answered

1. )
Chosen Option : 4
12 P

X2 W_LZ
16
wl?
24

wiL?

23

v

Q.71 Which of the following is not a method of balancing consecutive coordinates of a theodolite traverse?
Ans < Question ID : 9497309354
X ' Axis method Status : Answered

# 2. Bowditch's method Chosen Option : 3
' 5 Simpson's method
X 4. Transit rule method

Q.72 A rectangular bar is subjected to torsion; what will be the location of the maximum shear stress?
Ans Question ID : 9497309390
1. at the center Status : Answered
# 2 at the corner Chosen Option : 1
< 3. along the diagonal

+ 4 middle of the longer side

Q.73 Whichofte is suitable for p atownship rare and distant views
o sldom bl Question ID : 9497309351
Ans X 1. Resection method Status : Answered
< 2. Radiation method G CE e

#< 3. Intersection method

Q.70 A propped cantilever beam of span L when loaded with a uniformly distributed load of intensity p will have a bending
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v Traversing method

Q74 The average net mass of cement per bag in India is:

v 3 500

Question ID : 9497309316
Ans Status : Answered
K1 25ke _
Chosen Option : 4
X 2 100 kg
X3 35kg
v 4 50kg
Q.75 As the water to cement ratio increases, the flexural strength of concrete: .
= Question ID : 9497309315
Ans X 1. Status : Answered
Does not depend at all on water to cement ratio Chosen Option :2
+ 2 Decreases
# 3. Remains unaffected
& 4 Increases
Q.76 Observations on a hydraulic jump were made and it was observed that the sequent depth ratio is 5. This jump can be
clasineqas Question ID : 9497309384
Ans 3 1. Strong Status : Answered
Chosen Option : 2
X 2 Steady
« 5 Oscillating
X 4 Weak
Q.77 As per the teminology used for timber, the angle between the face of the cutter and the line joining the cutting edge to the
GRS S B e e Question ID : 9497309343
Ans f 1. Cllﬁi_!]g angle Status : Not Answered
e Chosen Option : ==
X 2. Fibril angle
# 3. Hook
7% 4. Bastard grain
Q.78 A soil was tested in a National research center and it liquid limit was found fo be 15% and plasticity index was found to be 3%.
According to Cassagrande’s plasticity chart, which soil type s this? Question ID : 9497309358
Ans f 1. ML Status : Answered
x 2. ] Chosen Option : 3
Xs CL
24 MH
Q.79 111 BOD in the beginning and inthe end of testare respctively 13 and 8 ppm and fthe dilution fctor s 100, then the 5-day
A Question ID : 9497309377
Ans X 1. 800 Status : Answered
x 2. 1300 Chosen Option : 3
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| x4 200
Q.80 The estimated value of elastic modulus (GPa) of concrete of M6S grade as per IS 456 would be approximately:
Ans Question ID : 9497309368
x 135 Status : Answered
X 2. 30 Chosen Option : 3
'3 40
K425
Section : Reasoning
Q1 g
[ FT 9 Cay Question ID : 9497309394
Status : Answered
B I . Chosen Option : 3
Ans it L
X 3EEe T FEER
2 2. g
Vo Aifrere
X4 AT
Q.2 s w0 o §| T S A W @ 3R Y At ) e W # o sl § aur o
R o g @ wAfw W 3w o & dEn P §) o g wer @ Question ID : 9497309400
Ans Status : Answered
1La+b+x—
x a+hb+x r Chosen Option : 3

K2a+rb+x+p
via+b—x+p
Ksa+rb—x—p

@3 Find the related number to complete the analogy. Question ID : 9497309393

Status : Answered

oy 13 R : 7 Chosen Option : 3

Ans K 1. 25
X219
v 21
K427

Q.4 wF Fuw U 39F Fo oy @ R e
. Question ID : 9497309401
FUA: T IaF AGOFER F P e afewl
forsd: | 5we 3 ¥ 5 TR B T T F arol # e atee aRe Status : Answered
Il. 77 dae G e v WA TWaT 39 Chosen Option : 4
oot Tt & & i @ forssd afés &9 @ Ry 710 F9a 7 9 Saaa 87

Ans X 1. et T | STeleT AT B
X 2| 3t Il g aTee w=a &
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Vo Faa ey || O ST B
Ko garl A a1l 9o+ B

Q.5 T AT g $T # ‘books are many’ F ‘ym bs ae’ fraT ST ¥1 ‘many more students’ 1 ‘st em ym'
fr@T ST ¥1 ‘students need books' @ ‘bs nd st TRAT ST 1 Fe T Fe Ued ‘are’ F s Fe &7

Ans X1 gt
<2 nd
23 em
W 4 ae

Question ID : 9497309397
Status : Answered
Chosen Option : 4

Q.6 @ #r 3R 4 Fr o & A, P oA AR A R 4 B e AR aw s ad iR e R 4 Rl
Tl T, 7F 3 aT$ 3 e 3l 5 Rl ol = s s T Rig @ R e o freet g w2

Ans X g e, afFEw
X2 4 TRET, 3eaT
X5 7 e, gfaor
Vo9 T, T

Question ID : 9497309398
Status : Answered
Chosen Option : 4

Q.7 Read the given statements and answer the question below.
Nis shorter than L, but taller than O. M is taller than N but shorter than L. L is not as tall as K.

Based on the height, who is in the middle?

Ans X1_ L
v2 M
K30
K4 N

Question ID : 9497309395
Status : Answered
Chosen Option : 2

Q.8 The difference betvveen the ages of Pand Q was 19 years, when Q' age was 53. I£C is elder to Q by 4 years, what will be
the difference between the ages of P and C when C aftains 60 years?

Ans X 1. 24 years
o 2. 23 years
< 3. 26 years
X 4. 19 years

Question ID : 9497309396
Status : Answered
Chosen Option : 2

Q.9 tv;ﬁﬂ'aﬂ?s!mmﬂgv,Hﬁﬁm%ﬂ#ﬁﬁﬁmlﬁmw%\@ﬂmﬁﬂw
T

X 2 s

Ko amg

X 4 e

Question ID : 9497309392
Status : Answered
Chosen Option : 2

|Q.10

Question ID : 9497309399
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Find the value of ‘K’ in the given table. Status : Answered
Chosen Option : 4
23| 4
16
6 (12| Kk
Ans x 1. 22

X221
323
¥4 20

Section : Quantitative Aptitude

Q.1 A carcovers a certain distance at a speed of 100 kmph in 6 hr. To cover the same distance in 3; ‘hours, at what speed does it

LSS Question ID : 9497309407
Ans x 1. 170 kmph Status : Answered
Chosen Option : 3
< 2. 160 kmph
« 3 180 kmph
2< 4. 150 kmph
Q.2 v &R & we B TF gf W w7 3w w0 60° ¥ iR s e € AR 3.7 A A gf
o W v A A Question ID : 9497309410
Ans J 1. 7.4 m Status : Answered

Chosen Option : 1

<248 #rex
<337 &
<4 65 Hrex

5 5
Find the HCF of -, = and Z. Question ID : 9497309402
g Status : Answered

Chosen Option : 4

2
4
Ans 1
7~ a8
1
12
1
16
1
24

X 2

X3

v &8

Q.4 Anamount of T 6,000 is shared by P, Q and R in the ratio 5 : 4 : 3 respectively. How much more will P get as compared to R?
Question ID : 9497309403

Ans
X 1T 300 Status : Answered

J 2. ¥1,000 Chosen Option : 2
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X3 31,500
X 4 TT50

Q.5 Ifthe roots of the quadratic equation ¥ +mx +7n = 0 are —1 and 3, find the values of m and 7.
Ans X1 m=-5n=6

Qf 2. m=6.n=35

X3m=5n=6

Kam=-6,n=5

Question ID :
Status :
:4

Chosen Option

9497309411
Answered

Q.6 P v @ & 12 Hel # 3 AT §1 Q S FH F P g@W R S A WA Y A W & T W 1
o & T Ay B S T A T A § A I WA A 3 P o w?

Ans x.]s 'a'é’
K27 g
v gge
44T

Question ID :
Status :
:3

Chosen Option

9497309408
Answered

Q.7 ATV andanair conditioner were sold for 9,600 each. The TV was sold at a loss of 209 and the AC was sold at a profit
of 209%. What s the net result?

Ans  of 1. TLoss of T 800
# 2. Gain of T 800
& 3. No loss or gain

X 4 Gainof T 1,600

Question ID :
Status :

Chosen Option : 1

9497309405
Answered

Q.8 T e & T 1,000 H7 T 1,500 H & U 3uR A R FAR 2O # W W FAw 3§ A 47§
# arw sterr S ¥ AR FF 4 T 31,350 ¥, A @ A ifE @ e Al

Ans X71.8%
v 2 15%
X3 10%
X4 12%

Question ID :
Status :
12

Chosen Option

9497309404
Answered

@9 Find the position of number 70 in the series.

2,6, 10, ...
Ans J1 18
X217
K316
K419

Question ID :
Status :
1

Chosen Option

9497309409
Answered

Q.10 & e 7 3w X 40 9 faelt 3R g e w1 qew 3 50 o Fret ¥1 AR 3 50 2 & A F
Tfa T ST & & s e et e g

Ans

Question ID
Status

19497309406
:Answered
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#1743 9fy TR
K2 7 46 9fF BFar
#< 3 7 45 gfy TFar
v 7 44 9fY e

Section : General Awareness
Q1 forgr s T # T Ry SR fem @ T 3
Ans x 1. gﬁ_qm.n.

v seaEs

X3 a7 qear

< 4 fEmTEe 9T

Chosen Option : 4

Question ID : 9497309414
Status : Answered
Chosen Option : 2

Q2 g FWE F TSE & NG Fr AT FET ST 87
e X diE sereE

X 2. dreREHr

X 3. FTEUGE SgITeT

Vo TeTEeT

Question ID : 9497309418
Status : Answered
Chosen Option : 4

O 3w F gETE: W IR F e (CRE) 9T S §?
Ane X1 ereRe 3w

v A e

X 5. grsfes s

X4 TEEiaE HE

Question ID : 9497309420
Status : Answered
Chosen Option : 4

M = Y g 3§ ¥ AT S 2
Ans x1?i?11$'

X2 §HT
X ety

‘fzx.@'

Question ID : 9497309419
Status : Answered
Chosen Option : 4

Q.5 R sl vd 9 FwEe, AFEEE A A 208 W A T FEe v AR A wRN &
T H A S G| AR FeH AT FAT A2

e X Tl T e

Question ID : 9497309417
Status : Answered
Chosen Option : 2
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Q.6 v e w1617 3 Rfeer &1z e F9=h 7 oM § @R T H Aty &7
Question ID : 9497309415
Ans X1 QWU Status : Answered
. Chosen Option : 2
v FERR
73 I

X« sikerem

Q.7 S 2016 &, FERISE TEHR & Feeh 1 WAV F F T AHe & @Y Fr oy F1 Swwer A

Question ID : 9497309412

Ans
> m ofarse Status : Answered

Chosen Option : 3

X2 FraE
v confies smfiee
LA o
.8 G .
¢ mrfEr fefaRE & ¥ e g g Question ID :9497309421
Ans 1. Status : Answered
x A Chosen Option : 2
v g
X 3 @
24
9 . 7 o
Q.9 To which of the following dynasties did Emperor Ashoka belong? N o e aals
Ans X 1. Pala Status : Answered
J 2 Maurya Chosen Option : 2
X 3. Gupta
X 4. Chalukya

Q.10 e .
Who won the 2017 Roland Garros Men’s Singles tournament? Quostion D :9497309413
Ans J 1. Rafael Nadal Status : Answered
Chosen Option : 4
Z 2. Andy Murray ?
# 3. Stanislas Wawrinka

& 4. Roger Federer

Section : English Language
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Q.1 From the given pairs of words, select the one which does not have the same meaning. Question ID : 9497309427
Ans X 1. Frugality, Prudence Status : Answered
. . Chosen Option : 2
+ 2. Habitual, Infrequent
< 3. Embarrass, Confound
X 4 Propitious, Favourable
Q2 H ; : : :
John was to do it against his conscience. Question ID : 9497309422
Ans x 1. against Status : Not Answered
Chosen Option : --
W 2. compelled
#< 3. inevitable
2 4 refused
Q3

Ans

Make a meaningful sentence from the following.
Q : the most interesting

S : it was
R : I had ever read
P : book that

The cotrect order is:
X< 1. PQRS
« 2 SQPR
# 3 SRQP
< 4. QSRP

Question ID

Chosen Option

19497309425
Status :

Answered

2

Q4

Ans

Rearrange the given sentences in the most appropriate sequence to form a meaningful paragraph.
K - Farmers will have to come around as experts do not have much stakes.
L - Farmers say that good rains will solve ground water problem.
M - Thus, there is no meeting point in this regard between the sides so far.
N - But, experts say that only sensible farm practices will solve the problem.
v 1. LNMK
X2 KNLM
& 3 NLMK

X 4 KLMN

Question ID : 9497309431
Status : Answered
Chosen Option : 2

Q.5

Ans

The following sentence contains an error. Find the part of the sentence which contains the error.

1 said that (1) / Gupta was (2) /taller than (3) /1 (4).

X1 (@)

X2 (1)
X3 (3)
Vi@

Question ID : 9497309424
Status : Answered
Chosen Option : 2
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Q.6 Ifyou fail to produce result, you have to go the process all over again. .
Question ID : 9497309423
Ans X 1. out Status : Answered
X2 on Chosen Option : 4
X3 oup
W 4 through
Q.7 From the given pairs of words, select the one which has the same meaning. .
Question ID : 9497309426
Ans x 1. General, Casual Status : Answered
g i Chosen Option : 1
#< 2. Futile, Fruitful p
#< 3. Help, Thwart
« 4. Humble, Unassuming
Q8 i .
Find the mis-spelt word. Question ID : 9497309428
Ans x 1. 'V‘oluntary Status : Answered
: Chosen Option : 2
W' 2. Veledictary
# 3. Woe
/& 4. Stationary
Q9 Change the verb into passive voice. Question 1D : 9497309430
Status : Answered
‘Read the text and answer the questions.” Chosen Option : 4
Ans x 1.
The text has been read and questions have been answered.
X2
The text is read and questions will be answered.
W 3. Let the text be read and questions answered.
X
The text was read and questions were answered.
Q.10 ; K o
Select the meaning of the given phrase / idiom. Question ID : 9497309429
Status : Answered
“To call in question’ Chosen Option : 3
Ans

#< 1. Express no doubt
#< 2. Call one by one
« 3 Challenge

#< 4. List of questions
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